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Year 3 and Year 4 - Home Learning

Whilst we are not expecting you to replicate school at home, it will
be important that you all try to do some work each school day to
keep your skills up.

And don't forget to stay active!

In this booklet you will find a range of different activities and tasks
that you can choose to complete during the week.

There is also a separate booklet for each class that will contain your
new spelling words and your daily Times Table Rockstar challenge.
These can be collected from the school office or downloaded online.

Each morning your teacher will still be saying 'Hello' on Class Dojo.
You'll also be able to ask any questions or just them about what you
have been up to! As your teachers will be in school, remember they
might not be able to respond straight away. You will still be able to
post things to your Class Dojo portfolio but it might not always be
your teacher who approves and leaves comments for you.




Class 3, if you want to try some online lessons, check out BBC Bitesize.

Year 3/ P4 online lessons

Monday 6 July - Friday 10 July

Monday

English

Revising
subordinating
conjunctions

Maths

Measure mass in
grams and
kilograms

Arts Week

Musical
performance

Tuesday

English

Newspaper
features

Maths

Comparing mass

Arts Week
Artists and art

Wednesday

English

Using alliteration
to write
headlines

Maths

Add and subtract
masses

Arts Week

Drama and theatre

Thursday

English

Revising word
types

Maths

Measure capacity
in millilitres and
litres

Arts Week

Singing and
wellbeing

Find all this content and more at: bbc.co.uk/bitesize/dailylessons

.. Bos
Bitesize

Daily lessons

Friday

English

Reading lesson:
TBC

Maths

Challenge of the
week

Arts Week

Ten pieces
takeover

Lessons are available daily. Here is the schedule for this week.



Class 4, if you want to try some online lessons, check out BBC Bitesize.

Year 4/ P5 online lessons
Monday 6 July - Friday 10 July

Monday

English

Revising
conjunctions

Maths
Identifying angles

Arts Week

Musical
performance

Tuesday

English

Newspaper
features

Maths

Angles, comparing
and ordering

Arts Week
Artists and art

Wednesday

English

Using alliteration
to write headlines

Maths

Classifying
triangles

Arts Week

Drama and theatre

Thursday

English

Writing a
newspaper report

Maths

Classifying
quadrilaterals

Arts Week

Singing and
wellbeing

Find all this content and more at: bbc.co.uk/bitesize/dailylessons

., oHs
Bitesize

Daily lessons

Friday

English

Reading lesson:
TBC

Maths

Challenge of the
week

Arts Week

Ten pieces
takeover

Lessons are available daily. Here is the schedule for this week.
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pelling Words ‘A

i accident (ally) disappear interest pressure
i-r actual (ly) early island probably
address earth knowledge promise
. answer eight/eighth learn purpose
appear enough length quarter
- arrive exercise library question
- believe experience material recent
bicycle experiment medicine reqular
- breath extreme mention reign
breathe famous minute remember
B build favourite natural sentence
busy/business February naughty separate
R E| calendar forward (s) notice special
— caught fruit occasion (ally) | straight
i centre grammar often strange
HE century group opposite strength
certain guard ordinary suppose
circle guide particular surprise
— complete heard peculiar therefore
“ consider heart perhaps though/although
A— continue height popular thought
_ A E decide history position through
. describe imagine possess (ion) various
different increase possible weight
- difficult important potatoes woman/women
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Colour in the word if you can read it, spell it and use it in
your own sentence.



Y3/4 Spellings Words Search

Y3/4 Spellings Words Search
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If you discovered a new animal, what
would you call it? Well, Peter Jaeger, a
spider expert from Germany, has named a
new spider species after Greta Thunberg.
It's the 400™ time he’s found a new type of
spider!

The spider isn't the first animal to share
Greta Thunberg’'s name. Other scientists have
named a beetle and snail after her.

Greta isn't the first person or character
to have their name given to an animal.

In 2017, a monkey was named after
Luke Skywalker, a character in the Star
Wars movies!

So, who is Greta Thunberg? She is 17
and comes from Sweden. Greta was first
in the news in 2018. Every Friday, she
missed school to protest outside the Swedish
parliament. She wanted people to do more
about climate change.

She's been to other countries to talk about
climate change, too. In August, Greta sailed
across the Atlantic Ocean to the USA, to
talk about climate change. Greta says she
doesn't use aeroplanes to travel because of

e Huntsman spiders have two
rows of eyes.

e The huntsman that was named
after Greta Thunberg was found in
Madagascar.
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Illustration: The spider named after Greta Thunberg.

‘ Sr Named Aj’er Greta Thunberg

the pollution they cause. Afterwards, she had
planned to travel down to Chile, in South
America, but the meeting was changed and
it happened in Spain. This meant that Greta
then had to sail back across the Atlantic
Ocean so she could go to the meeting.

Her actions inspired Peter Jaeger to name
the spider after Greta. He said he did it
because of her “commitment for a better
future on our planet”. Who knows if other
animals will be named after her as well?

Glossary

species Animals that are similar
and can produce young.

parliament The place where laws
are talked about and

passed.

climate change The way in which the
world’'s temperature
is rising.
commitment Making a big effort to

do something.




Greta Spider
Questions

1. Draw a line to match the country to the information in the story.

Greta comes from... + + Germany
Peter Jaeger comes from... + + Madagascar
The spider was found in... + + the USA

Greta sailed to... + + Sweden

2. Fill in the gap to the complete this sentence from the story.

It's the time he's found a new type of spider.

3. ‘Her actions inspired Peter Jaeger.’
Tick the word that is closest in meaning to ‘inspired’.

O annoyed
QO impressed
O surprised
O saddened

4, Why do you think scientists name animals after famous people? Explain your answer.

5. Do you think Greta was right to miss school to protest? Explain why you think this.

6. Write a summary of the story in 20 words or fewer.
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Weekly Writing Challenge

This week, you are going to plan and write a short story. The
idea for your story is ‘The Suitcase’.

Imagine you find an old suitcase in a dusty attic. Describe the
things that you find inside.

Things to think about:

How old are the objects?
What do the objects look
like?

Who do you think the
suitcase may have
belonged to?

What are you going to do
with the suitcase and the
contents?

What type of story will this be? Mystery? Adventure?
Scary? Science fiction?

Remember to:

Plan your story with a beginning, middle and end. How
are you going to hook the reader at the start? Create a
storyboard to tell your story.

Organise your ideas into paragraphs.

Choose your words carefully to entertain the reader.
Write in sentences. Try to think of really good descriptive
words to use.

Pay attention to your spelling and punctuation.

Read, check and edit your work carefully.

Decide how you are going to publish your story: writing it
out, typing it, making a book?
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Multiplying 3-Digit by

1-Digit Numbers

Calculate the missing number in these calculations.
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e Honeybee colonies can have up to
50 000 bees in them, but only one is

- Q ; 3 the queen bee.
’3; e T '

: é
eeanuac

<" * Queen bees are created when, as
k‘ Y% larvae, they are fed royal jelly.

Fw "'J Photo Honeybees

Saenttsts Study Why Bees ‘Quack’

We all know that bees buzz. However, did When hearing the ‘toots’, the worker bees
you know they can ‘toot’ and ‘quack’ too? also get ready to swarm. This is when a new
It used to be believed that the ‘tooting’ queen bee, and up to half the bees in the
and ‘quacking’ sounds queen bees make were hive, leave to set up a new colonuy.
aimed at other queen bees. It was thought Honey bees are really important for the
the noises were signs of anger. environment because they pollinate plants.
However, researchers at Nottingham Pollination is how plants make new seeds.
Trent University, UK, have been studying The researchers hope that their findings will
these noises and they think they have a help beekeepers to better look after these
new theory. helpful little creatures.

The scientists think that the sounds are
instructions for the worker bees instead.

When a queen bee is ready to hatch, she Glossary
makes ‘quacking’ noises. theory An idea based on scientific
The scientists think this is to let the research.
worker bees nearby know that she is ready
to emerge. emerge Break out from an egg or
After hatching, her ‘quacks’ become ‘toots’. cocoon.
When the worker bees hear the ‘toots’, captive A person or animal which is
they try to keep the other queen bees (who imprisoned or confined.

are still waiting to hatch) captive.
If two queen bees emerge at the same
time, they will fight to the death.

colony A group of animals that live
together.




Bee Quack

Questions

. How does a queen bee let other bees know she is ready to hatch?

. Inthe paragraph beginning “It used to be believed...” which word means ‘for the
attention of'?

. Tick the boxes to show if each statement is true or false.

True False

All bees can ‘toot’ and ‘quack’ as well as buzz.

Queen bees ‘toot’ before hatching.

If two queen bees emerge at the same time, they work together to
build a stronger hive.

The researchers hope their findings will help beekeepers.

. Which of these alternative headlines best summarises the story?

O Pollinators under Threat from Queen Bees
O Honeybees Play Instruments
O Queen Bees Talk to Their Workers

O Bees Communicate with Other Species

. Using information from the article, fill in the gaps to complete the following sentences.

Scientists think ‘quack’ to tell worker bees that they are

ready to hatch. They then ‘toot’ to tell the to keep the other

queen bees sealed up and to prepare to

. How have scientists’ thoughts about queen bees ‘tooting’ and ‘quacking’ changed?




vl ul g o | 2z | d [ ﬁ\\W\ ® R CEEERERERE )
o | u [ 6 |y | 1 | o \\W\W \\ o ) /////G/ gy | 1| 2 | o | u | ul o
2 1 3 0 0 \N\\m\w o\ b \ej M/ f ,/3/,/0/ 0 2 ) i 0 \%J
2 u ] n \u\\:\\m\ 2 D > ] ) ) /ﬂ//c/ 2 f 2 D >
Rl \V\\M\ " % ' b I /ﬁ/ﬁ i
1 n \: \\m\\c\ d 1 C 2 1 b 1 Y 1 u //m//_/ 2 s 1
_ O\\N\N\ B R A | e i T ) //A/ i
2 Q\\s\ 1 q P 2 n 1 m Vi m 2 2 X 1 mu //L//“/ m
0 Q y 2 1 ) X y |\ |\ o | m f 1 . 0 f y o N\
NN G R Co | m | v [ 7 | 2] 1] /O/Uu
lZ=LX¢g ogE=0LXEg 8=7X% M =1lLXY
9=TXE L=%X¢g 07 =0LX% 9GL=%X1%
8l=9X¢ 6=€EX¢ €E=8X1% ZL=€XY
10JDas pioMm 7424D3s pIoMm
3Y1 U1 SIAMSUD Y3 pu1f PuD MOJaq SUOTIDINIIDI By} JaMSUY 3U} U1 SIBMSUD 3y} pulf PuD MOJaq SUOIDINIIDI By} JaMSUY

I

a|qnyL sawn] € a|qn) sawil %
Y2.03§ p.o ﬁ 203§ pao




(O} ZL
o] Gl
LC 7¢
Gl 6 || LC
7¢ o ZL || 9¢
macﬁﬁ
6 OoL|| O¢
LL
4! /\ 33
L l 9
LZ € 8L

11 buoy moy aas pup ob noh sp suamsup dnoh a11p\ "1 Aq opal aYy3 Jo
aP1SINO0 SJ2QWNU Y3 aPIAIP PUD MO]aq 2]2410 3Y] U1 Jaquinu aYy3 aypL

i2o04 2Y3 ysiuif o3 noh sayn3

201y ¢ fiq uoisinig

R [ D[
\XJ//SM/O ol 1| o o o | 1| o
|| s /OM/M o [ n |l m | 2| y | m
s 1 | /Q // o 4 ) @ 1 1
il [ N | - | | |
///
o T I P A /7/m o | 1 ||
! Y 1 Y s m//y/m A 4
vl o | uw ||6]] a | p m//y/“ |
N I I IR I A ://;//:
0 R AN A O I N N o//w

9L=7Xx8 W =€Xx8
0CZ=0LX8 96 =.X8
E=8X1%Y o7 =8Xg9g

Y24Das PJoM
aY3 U1 SJaMSUD 3Y3 pulf pup Mojag Suo1InINIDI 3y} JAMSUY

I

a)qul sauny g
Y2403S pAon




08
ze
08
ovll s
79| 8
88| LL
£
e
Qar
o | vz

A q @4;.7 .

79

43

08

L

oL

08

o%

8%

8¢

o%

(0]

96

i2o04 2Y3 ysiuif o3 noh sayn3
11 buoy moy aas pup ob noh sp suamsup dnoh a11p\ "1 Aq opal aYy3 Jo
aP1SINO0 SJ2QWNU Y3 aPIAIP PUD MO]aq 2]2410 3Y] U1 Jaquinu aYy3 aypL

291y 8 fiq uoisinig

o1

¢

A

8¢

77

g (| O

¢%\ d

8

i2o04 2Yy3 ysiuf o3 noh sayni
11 buo] moy aas pup ob noh sp suamsup unoh a31up\ ‘1 fq opa3 Y3 Jo
aP1SINO SJaQWINU Y] 3PIAIP PUD MO 219419 Y] U1 JaqUINu Y3 a3n |

201y % fiq uoising




008 00% 00¢ oot

00% 00¢ ool 0s
o9l 08 o% (o714
ocL 09 o€ Sl
96 8% 7C (4}
88 %7 [44 15
08 o% (014 oL
4 9¢ 8l 6
79 43 9L 8
99 8¢ w7l L
8% 4 al 9
oy (014 ol S
[4% 9l 8 7
4 al 9 €
[4
8X X X JoquinN

£399Yys ajoym ayj a32)dwod noh un)
21903 X+ 2y} bunjgnop fiq a1qo3 saunl g ay3 pul4 '21qp3 xz ay3 buignop
fiq a1qp1 X+ ay3 pul4 Jaqunu Yona buijgnop Aq a1qol XZ ay3 pul4

"sa1bup143 U013V d1INW 3saY] U1 SYUD]q Y3 U1 1114

L 393Yys sajbumriy uonpondnnpy

a|qnoq ay3 v 3|qL




ZIT = 8 X %1 @) 0TT = TT X 0T (@

S9T = STX 1T @ LTT = 6 X €T (@)
SET = ST X6 @ 96 =8x21 (®
ze=8x7 (&) s7=-5x6 (®
0ZT = ST X8 @) 09 =-%x51 O
VT =11 x €T @ 06=-51x9 ®
80T = 6 X 2T () 66 =11x6 ®
o7=8x5 ) zL=-6x3 (@
00t= 5 x0Z @) gr=8x9
09 =% x 5T ) s9=-5x¢1 @
§%=STXZT @) 95 =7 x 41 (@
(081 =0zL+ 09 '09 = Z + 0zl (€L = GL - 051
‘ozt =0Lxl) (L2=1+1 ‘05l = OL X G1)
08l =GLx¢L b2 ‘0L = 0L X 1) geL = 6 x 6L B2
LL=1Lx L B
‘10301 Jaquinu ay3
ays Jo [ijpy ppp puay} pup “Jaquinu ay3 ppo uayl pun 10041gNs uayl pup
oL Ag Jaqumnu ay3 Aydiyniy ol Ag Jaqumu ayy Aydiniy ol Ag saqumu ay3 Aydinpy
51X LLx 6x
(moL=17x ¢S
‘26 =TX9Z'9Z = T X €l) (oL =7 = o0wl (z6 =zx9z
#0L = g x g1 ‘B2 ‘0%7L = OL X #1) ‘9z = 7 X €l)
0L =6 x| 6o 26 =y x¢L b2
‘2w pys
D 31 2]gqnop uay: pup upbo 1 ‘1 fipy uayy ‘ubn 1 a)qnop
a|gnop ‘Uaquinu ayj ajqnog up o Aq Jaqunu ay3 a)qnog uayj pud Jaquinu ayj ajqnoq
_ 8x _ X

noh suo11pn2In2 2says Jo

‘Appruaw waofiad und
fiuow moy aas 03 sa16210.1s UO1IDINDIDD [PIUBW 2say] Buisn A

-

uonnadiynpyy pIua

‘sa]bup143 uo1IDIIdIIINW 3saY3 U1 SYuUD]q Y3 Ul 1114

Z 129Ys sajbuviril uonpondnnpy




el=L+16 @ 1L=8+88 )
iz=v:98 ®@ 91=9 + 96 (@)
=£:99 @ 2=8+9% @ L[4 00% A 8 ' 4 08l A 6 '
w=1:8 @ 5L=9+06 @) £ 0s @ 8 oz ®
gL=5:08 @ vz=1+9 @
z=4:88 @ £1=5+59 @) at 05 4 s ' st 06Y 4 L '
€ oL ] oL
o=2:0. @ z=g+9 (&) ®© ©
wz=g:u @ n=9+:9 (5
¥4 oy L 18 ozL 6
IZ=%+%8 =242
. . e RN, e
€2=v:2 (@ v=5+0L ()
€L=9+8 wZ=g+2L
‘ e @ 6 09 € (0] 0s¢ 9
€2=2:97 () 6l=v+9L () € oz ® < 0s ©)
€2=%:2 (@) 8L=5+06 (®
6L=5+596 () 2z=1+88 () ] osg 4 S ' Lz 06 4 6 '
0z=%+08 (&) gz=£+69 Q) . oL ©) € oL ®

“U01SIATP Jo poylaw pw.Iof ® asn UDd I 07

saaqumN nb1p-z fo
uo1IsInIg Jpwio4 poyla dols sng man

poYylaW p19 ay3 buisn

staqunp nbip-| fiq ssaquny nbip-z buwhjdiynp




ZL=6+80L ® =6 :0L Lw=%:87 @
¢fo buruiyy 1snf ays som aaqunu ¢Jo bunyuiyy 1snf ay spm saquunu Jpypn
JOYM "ZT S1 Jaqunu mau Jay pup ¢ Ag 1 @ "Z¢€ S1 Jamsup s1y puv g fig 11 sandiynw @
sa11dinw ays uaqunu v Jo buryuiyl s11aIp aH Jaqunu D Jo buryuiyl s1 1427 ElL=L=+16 @ €L=%+126 @ ZL =€ = 9¢ @

¢fo buruiyy 1snf ay som Jaqunu DY &2
S1 Jaqumu mau s1y pup ¢ g 11 sandiynw @

aH uaqunu o fo buryuiyy s1 401Ang 8=8+%9 @ 8

e @

]
<
o
[32]
]
O
o

st ®

¢Jo buryuiyy s ays som Jaquunu
10YM °§ S1 Jaqunu mau Jay pup § Aig 1 @
sap1Mp 2Yys Jaqunu o fo buryuiyl s1 aws3

7+ ¢Jo buruiyz 3snf ay som uaqunu
JOYM “TT S1 Jaquinu mau siy pup 4 g n @ r4> @ =€=x1 @
SapINIp aH uaqunu o fo buryuiyl s1 pyoys
X

o ® 9=g:8L @

71

N
N
n
<
o
0
0
n
(32
o

<
n

-]
o

¢Jo buruiyy 3saf ay som Jaquunu

1Y "L Z S1 Jaqunu mau sy pup € Ag 1 @
sandiynw aH Jaqunu o Jo buyuiyy s1 1N

Zl

]
©
o

96

a ®

<
]
~
o
0
N
™M
]
<
e

£X

suonsand

(2]
]
[32]
o
o
©

(3]
n
L~}
ol

8L

¢Jo buruiyn 15 ays som
JagqUINU 1Y\ "84 S1 J2GUINU MU Jay PuD 4 1q 1
sandiynuw ays uaqumu o Jo buruiyl s1 nhiwns

n
N
o
0

®

[}
[32]
o

:21dwnx3 8=9=:8% @ 9

st ® K/

[

aulpsaquinN o buisn uoisinig

Jaquinu 1ou1biio ay3 pulf pud SPIOMYIDY Y4oM 03 UOIIDIdO BSIaAUT Y] 2SN

JaquinN v o Burjuiyy w1




[

staquinN buissipy uoiwondinpy

08%7 = 08X%9

087 =09x8 ]

©
<
]
o
x
[}

{7/ 0ZL=08%6

0ZL=06%8 | ]|

L7 oo =08x¢§

o
3
]
o
O]
x
[}
3
u
1
x
©
©

= oo.m =06XY | @
5 oﬂomxw 0¥Z = 08X € | c J @
08z =0%XL 08z =LX0% sz  =1x% | (®
09L  =%xo0Y 09L  =o%x¥y g =uwxy |
olz  =0ExL olz  =o0LXE i =1xe | ®
08L  =0EX9 08L  =09XE gt =9xg | ®
ozL  =0£Ex¥ 0zL  =o0%XxE a  =9xg [

3721dW02 03 SIaMSUD 3Y] 2SN U3Y] $31.440] ]]DWS 3Y3 Uo uolisanb sa)qv] sawl ay3 a32)dwio)

umouy wo.4 s3on4 uonndijdiniy painjay buianiag

isa1110] B1q ay3 uo s3onf Pajn1doSSD Y}

sajqnl uonodinp




H=oh) L

o T L om T} o

QHx | [ra)x i__. d Omu.ﬂ_lmi [Ts]x | v

= AR Of (B
7 Cle

siaquiny Buissipy uoising staqunp buissiy uonwondiynpyy




0Z :Jamsuy

E=—r=r=r

£3sN U1 Sa0p SYILIq Aupw
MOH "yb1y sp saw} 4nof auo sp)ng DUIH 1103 SY214q AL ST Y2YM Jamol D sp)Ing aor @

do% :1amsuy

¢anpy 1 op Aauow yonw moH "xoq Aauow Aw u

S

su100 dg Jyb1a anny | @

G :lamsuy

guisaP™

¢S423913s Q€ aADY 03 fing 03 paau nofi op syond fiunw moy ‘Yond D U1 SIaYINIS XIS 24D 243N | @

LZ Jamsuy

¢519390d UaA3S U1 a4aY] 240 Aupw MoH ‘393ond D U1 S1IMDS1G 24Y] 24D 243Y | @

swoajqo.d bunnos staqunN buissipy uoisinig




WQg amsuy

¢ayous ay3 s1 buo) moH ‘buoj sp sawiny aulu S1 3YDUS ¥ ‘buo] sauIBWIIUBD JNof S1 PADZY] O

9L 'DUIN
8 'paN
# DT

- N s s (1 5 (% ] s ol ¢anpy auohana saop saqna Aupw MoH 'SDYy PaN IDY3 saqna fo Jaquinu
\ \ 2y} 2]qnop SDY DU *SDY DSIT SaqND Jo JaqUINY ay3 2)qnop sy paN ‘saqno anof soy vsr; O
@m olfzY s z e 8 |2 AR 5z )
Y dyz :samsuy
51 ﬁm.\ fon) = (0w (7) z| ¢ (2€)
DG Y € (@) £ (@ \ y
8 m (] 7) ¢ £ (e _@ z
7z | %7l 45 @ 4 @ ql mu L 9l (w\
@ 6 @ le 6 (W)L @ L)t (€) ¢anpy up)fig saop yonw
ol el v v e czls 2| ez | o) MOH "Yonw s sawi} 2a4y3 soy unjAig ‘u10d d1 o pup w100 dz » ‘U100 dg D sy JpAunQg @
8 :Jamsuy
@) 0\ @@ 98 &

650

W L 1Ee | oL |88
"/

‘MO12q UMOUYS S1 G = € + GT S1 a]dwnxa ay |

‘uo1wnba auo uvyl atow Jo 1d aq UDI saupnbs ‘Mo

D U1 40 UWNJ0D D U J3YI0YdID2 ap1saq aq Isnw sasonbs ng Japao Aup u1 aq upd aul) ay L 45563 g4 24DW 03 PapasUl 3D $3X0Q UDW MOY - x0q D U1 663 XIS 21D 43YL @

;uo11onba U0ISINIP D 3YPW I0Y] Sauonbs uaquinu saJy3 fo saull ay3 1) anojod noh un)H

uononb3 uoisinig ay3 4nojo)H swa)qo.d bunnosg




*s$22(] 19210M 3Y3 03 Buryn]

2.4 saaq uaanb ay3 yuiy3 fiayy ‘mou {4210 Ya12 03 Huyn] 34aM saaq uaanb ay yunyy 03
pasn fiay] ‘62 ‘uoissaabbv fo subis sv .10 saaq uaanb aay30 10 pawnD UDY] JFYID.I SIOM
a3 J40f huiaq aypw saaq uaanb aiy) spunos iy} sasuatafa. Yarym Jamsun up 3danoy
¢pabupyd buryoonb, pup bu1jool, saaq uaanb Inogo s3ybnoyl SIS13U19S IADY MOH

*aAD3)/WIDMS

01 aundaud pup dn pajpas suaanb Jayio ay3 deay 01 s23q J2y40M 3Y] ]]21 03 003, UBY}

fiay 1 "yo3pYy 03 Apvau aup Aayl 1Y saaq J4a3a0M 1123 03 }opNnb, saaq uaanb Juiyj s1s1IU210S
‘saoualuas buimoijof ay1 a3e1dwos 01 sdob ay3 u 71f ‘2191340 a3 wouf uorpwoful buisn
sa122ds JaY10 YNMm ajporunwwo) saag O

S42340/\\ 112 | 03 DL S22 UMD (P

sjuawnuisu] holg seaghauoq O

saag Uaand wiouf Ipay] Japun siouljiod O

¢ Ai03s a1 sasTmWWINS 53¢ SaUTPDAY dA1IDUIB]D 3say] Jo yorym

P ‘suadaayaaq djay 11m sbuipurf aay3 adoy suayounasad ay |

"aA1Y Jabuouis » piing
2 03 4aYy32b03 Jaom fiayy ‘awny aws ay3 Jo abuawa saaq usanb omy J1

p ‘buryoioy aiofaq 3003, Saaq U2ANY

2 "ZZNq SD ]]aM SD JoDND, PUD 3003, UDI S3a( 1]y

as)04 anua|

*as]0J 10 an.] S1 JUaWIaIDIS YID3 /I MOYS 03 SaxX0q 3y} Y911
pawnm
¢ Jo uonuano

a3 JoJf, subaw paom yaym ,panaljaq aq 03 pasn 11, buruuibaq ydoaboand ay3 ug

oonb, fay
¢Yo10Yy 03 Appad s1ays mouy saaq Ia13o 1a] aag uaanb b sa0p MOH

Siamsuyy

Jounp aag

‘baaquny ] p32.49 421 D pawpu Uaq DY 11 pud punof usaq sny Japids
Jo sa1ads y ‘62 ‘y3bua) u1 1amaf 10 spaom Qg s1 10y} fiapununs ajgqouosnau fiun 3dasoy
1ama] 4o spaom oz u1 fuols ayi Jo Arowwms o a31

‘furuana) anoh aof Juniaodun

S1100Y9s 3SND23( |00YIS PaSSIW IADY PINOYs 3ys Juiy3 3,uop I ‘62 ‘uorypun)dxa un
fiq pamoijof uoruido .1ay3 san1b Juapnis ay3 audym samsup ajqouosnad fiun 3dasoy
'S1y3 JuIyl noh Aiym uinjdx3 ¢3sa304d 03 J00YyIs ssTw 03 Jy b1 spM DIBIY JuIyl noh og

‘uos.ad oY1 10adsau fiayy asnnaaq ajdoad snownf

121fD sjpUNUD 2wWDU SIS1IU13S YUy} T *6°2 ‘19adsaa moys 01 uos.ad .10 4219D4DYD UMOUY
-112M D 423D |DWIUD UD WDU P]NOI SIS1JUAIIS JDY] suID]dxa JpY] Jamsup fiup 1dasoy
Jamsup anohf uwjdx3 ¢ajdoad snownf sa1fo sypwiun awnu s3s13UB19s YUY Noh op Aiym

pauappps O
pasud.ans O
passaidun @
pafiouun O

" pasndsui, 03 Buiubaw U1 3535019 S1 DY PIOM Y3 3011
dabanf Jajad paJidsul suo13oD JaH,

Jap1ds Jo adhy mau » punof s,ay aw1l ,,00% aY3 S I

"Au01s ay3 wodf aouajuas s1y3 a32)dwiod ay3 03 dob ay3 u1 114

_ uapams **0} PaIws D2 _
_ VSN 2yl “*u1 punof som Japids ayL _
_ AD2SDHDPD N woJf sawod uabavr Jajad _
_ fupwaan “"wo.f sawod v _

‘Au03s ay3 u1 uorpwWIOfU1 3Y3 01 Aujunod ay3 yo1pwW 03 3Ul) D MDIJ

siamsuy

Japids p1a49

b



09 =gx¢x0L'0C| %9 =8x¢x%6l
7T =Cx1x/['8l L =9x¢x97Ll
Le =gxExE9L | %9 =7 x 7 x¥°Gl
9¢ =6x¢xC Wl | 06 =Gxx6€El
s =6xExZCC | %9 =8xH7x'Ll
Le =6x€ExL0L | O% =7 x{xG6
9¢ =% x/xZ'8 (4 ={x8xC L
001 =Gx%7xG 9 8y =7 xExh g
L4 ={xExh Yy 0 =Ex0x¢E €
81 =Exx¢EC Y =ClxLlxC’l

sJaqump 334y buifijdiynpy

Jaquinu ayppiw ay3 Aq sdaqumu ay3 Adinpy

s1aay\ uonmondiyniy



009s 0021 000ZT 00¢£9 00zZ¢
=0.L x 08 = 0% x 0€ = 00T x O¢T =06 x 0L = 0% x 08 _ 0ooo0L | coooL | 000OL | 00O0OL | 00O OL | 000 OL
0042 00%2 000€ 00%% 00ZT i B O e L
=08 x 0¢ =09 x 0% =09 x 09 =0TT x O% =0Z x 09
0099 00¢t 000¢T 00€£9 00ze€ o o n n n .
=00L x 8 =% x 00¢€ =000T x ¢T =6 x 00L =00% x 8 _
JaqunN o I I s JaqunpN
0042 00%Z 000¢€ 00%7% 00ZT burpu3 bunuunBog
=8 x 00¢ =009 x %7 =G x 009 = 00TT x %7 = x 009
09s oct 00zt 0¢€9 oce ) ) 0 ze ze ze
=L x08 =0% x € =0T x 0¢T =06 x L =% x 08 Taquinp ] TqunN
Burpuz b 0 bx b= Buiuwbag
o%e o%e 00¢€ oYy 0zt
=08 x¢€ =9 x 0% =05x9 | =TTx0v | =0Zx9
0=0X99 | €
6L=1LX6L | C
L=L=+2 ||
0| 8L 0| 6
L Ll L[| 8
9¢ | 9l [ A
€86€ | Gl ¢l | 9
0s | ¥l e | G
09 | €l qC | %7
0| ¢l 0| €
0| Ll 8| ¢
le | Ol a |l
Jlamsuy _ uonsanp _ Jamsuy _ uonsanp

53004 umouy| buisn fAyojuay bufiydiyni T fiq Bwipimq puv g puv 1 fiq bufiydinp



Tl =HZ x9 9IT =62 x% O0TZ =0€x L
96 =%T x% 68T =1LTxL LG=€x6T

G8=LTxG TIG=€x/.T GyT=Gx6C LL=TIxL

29T =9x 17 TL=%TxE S7=%x71 TL=8Ix%

€02 =67 xL GET=1T7xG O0£E=GTxC %Ll =9 x6¢

9TZ =4%Zx6 0CZT =8xGT TGTZ=6x87 G8=LTxG . . o

807 =97x8 6IT=LTxL #G5=8Tx€ TL=%TxE¢

GOT =G xIZ %lZ=8x8C 89T =12x8 89=%x/I

‘00T = 0C = § Y3 mouy
hayj asnooaq £z x G ‘b2 uo1DINIIVI ay3 Jo buiuuibaq ay3 v g
ay3 daay hayy Aiym hfizsnl Avw uaupiyo Janamoy (g9 = 4 x LT 0S
Ja)pws ay3 hq Jabup) ay3 hydinw 03 Ja33aq S1 11 SaSDI JsOW UJ

g
g
hd

uonnodiyni fo mni annpInwwo) ayg s394 umouy buisn Ainpuap buipinig



9474

L X
8L ‘0¢
7Y

Q X
€9 91
79¢

7 X
9 Zl
LT

L X
LE 8
8L

¢ x
9¢ 7

80%

(] X
89 6l
calL

154 x
76 ql
981

¢ X
[ Ll
69¢

6 X
Ii7 ‘L
06

q X
8l €

44

¢ x
o 8l
969

Q X
L8 Yl
©7¢¢C

/l X
& 0l
96

I x
87 9
oLl

g X
(44

K4

)42

i X
g8 Ll
8ze

iz X
(4] €l
80¢

A X
Vil 6
09

g X

a ‘q
96

i X
7c L

siaquny nbig-auQ fq ssaquny nbig-omy bufjdiynpy

OCll=L1lxClx0l=Lx7xEx0l=Lx7xExGx{(

LL

009 €L = 9€L x O0L = 9€L x OL x Ol

(0]}

88 =1Lllx8=1llxCxlxC

0=Lx0=LxEx0

O7L =%l x0lL=%LxCx§G

009 =0Lx09=0Lx¢Zlx9g

00l = % x q¢

]

7 xGx§g

0s

G x 0l

Gx¢x§

00C=0L*x0C=0Lx¥7xGg

G =Cx9C=CxCxEl

0Cll=2Clx0lL=¢Clx9x¢

Jamsuy

uosand

uonnojdinp Jo mn anpInwwo) ayy




> oY v'6 0z

9°C 6€ z 61

g 8¢ S 8T

z LE '8 LT

'Y 9¢ 7T 9T

'L 15 6 ST 226 | o

€ g T 1

6 €€ z €1 €ses | 8

z's Z¢€ 9 T ol | £

q TE T T

'8 o€ €71 0T ¢ose | 9

8 6z %G 6 SylE | S

L 8z L 8

'€ LT z L L6 | v

9T 9z 56 9 y90L | €

z's T 0 S Y | 2

T 7 'y Y

y €z 91 € los | 1

€6 2z T z

z TC 79 T

Joamsuy :O._u.m@.:a

Jamsuy uonsand Jamsuy uonsand

uonmandiyni nhig-t x nbig-z staqunN buissi uonmondin nbig aup x nbig aaayL



907

35.

136

27.

271

19.

n

Multiplying 3-Digit by 1-Digit Numbers

4535

o

1355

129

36.

28.

834

20.

o

0

1446

676

13.

216

214

883

37.

506

29.

352

21.

1766

1518

1056

14,

301

861

38.

411

30.

742

22.

3
2226

1204

3444

2055

15.

966

825

854

39.

749

31.

23.

4950

5124

44,94

345

10.

656

645

40.

146

32.

Ln

X

N

™M

o

3225

o

N

(@]

17.

11.

540

822

33.

o
O
L

25.

q.

X

X

N

(]

<

1620

1644

0

18.

12.

978

673
1346

34.

3456

N[O

N[O

X



suonuiIquod ajqissod ZL | 8

6L=€xE
jwoolL | 8 +ZxGE €=s3191duL g€ = youung + nfoy ‘63 | ,

:saamsup ajqissod ajdnnp

893 | L

wogy| 9

1£s3 | o =l+C+E+H+G+9+L+8+6+0L+06
0SZ = T x GZ + % x 0§ = S3Y1q GZ puD s.d 0§ ‘b2 ¢

saionbs 08 | S :stamsup ajqissod ajdin
sauonbs g4 | 4 oz | v
booz | ¢ L| €
wolg | ¢ suonuIquod ajqissod Gz | ¢
o%'s3 | L aL | |

Jamsuy uonsand Jamsuy uonsand

323ysya0\\ bunnag huinjoaus swajqo.d :swajqo.d paop 2dfil aosuapuodsa.io)






